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GROUP-I
ŸÊ≈U — ¬˝àÿ∑§ πá«U ∑§Ê ¬ÎÕ∑˜§Ô-¬ÎÕ∑˜§Ô ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ Á‹πŸÊ •ÁŸflÊÿ¸ „ÒU–
Note: Each section is compulsorily written on separate answer sheet.

A-701
Paper : BCA-11

FUNDAMENTAL of COMPUTER & PC PACKAGES
Maximum Marks : 40

ŸÊ≈U — ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥U– ‚÷Ë ¬˝‡ŸÊ¥ ∑§ •¢∑§ ‚◊ÊŸ „Ò¥U– ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ©UûÊ⁄U •Áœ∑§Ã◊ }ÆÆ ‡ÊéŒÊ¥ ◊¥ ŒËÁ¡∞–

Note: Attempt all questions. All questions carry equal marks. Each question must be answered in
maximum 800 words.

1. OOP ÄÿÊ „ÒU? ß‚∑§ ‹Ê÷ ÃÕÊ „UÊÁŸÿÊ° Á‹Áπ∞– ÿ„U ÷Ë ‚◊¤ÊÊß∞ Á∑§ OOP Á∑§‚ Ã⁄U„ POPU ‚ Á÷ãŸ „ÒU?

What is OOP? Write its advantages and disadvantages. Also explain how OOP is differ from POP.

2. DBMS •ÊÌ∑§≈UÄø⁄U ∑§Ê ÁflSÃÊ⁄U ‚ ‚◊¤ÊÊß∞– DBMS ∑§ ‹Ê÷ ÃÕÊ „UÊÁŸÿÊ° Á‹Áπ∞–

Explain DBMS architecture in detail. Write the advantages and disadvantages of DBMS.

3. ⁄U»§⁄Uã‚ ◊ÊÚ«U‹ ÄÿÊ „ÒU? ÁflSÃÊ⁄U ‚ ‚◊¤ÊÊß∞–

What is Reference Model? Explain in detail.

4. ‚¢ÁˇÊåÃ Á≈Uå¬áÊË Á‹Áπ∞ó(∑§Êß¸ ŒÊ)

(i) „U«U⁄U fl »È§≈U⁄U (ii) ’È‹≈˜UÔ‚ fl Ÿê’®⁄Uª

(iii) ÁÕ‚ÊÚ⁄U‚

Write short note on : (any two)
(i) Header and Footer (ii) Bullets and Numbering
(iii) Thesaurus

5. ÁŸêŸ ∑§Ê ‚◊¤ÊÊß∞ó(∑§Êß¸ ŒÊ)

(i) øÊ≈¸U Áfl ÊÊ«¸U (ii) ‚‹Êß«U ≈˛UÊÁã¡‡ÊŸ

(iii) „ÒUá«U•Ê©U≈˜UÔ‚

Explain the following : (any two)

(i) Chart Wizard (ii) Slide transition

(iii) Handouts
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A-702
Paper : BCA-12

DIGITAL ELECTRONICS
Maximum Marks : 40

Note: Attempt all questions. All questions carry equal marks. Each question must be answered in
maximum 800 words.

1. Write short note on the following :

(a) decoder

(b) combination circuit

(c) parity

2. Discuss the OR, AND, NOT, NAND, NOR gates with their symbols and truth tables.

3. What is latch? Explain working principle of J-K master/slave flip flop and draw its truth table.

4. Explain briefly the functioning of a serial in parallel out shift register. Explain operation of seven segment
display.

5. What do you understand by physical and logical address? Explain any two page replacement algorithm.
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GROUP-II
ŸÊ≈U — ¬˝àÿ∑§ πá«U ∑§Ê ¬ÎÕ∑˜§Ô-¬ÎÕ∑˜§Ô ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ Á‹πŸÊ •ÁŸflÊÿ¸ „ÒU–
Note: Each section is compulsorily written on separate answer sheet.

A-703
Paper : BCA-13

PROGRAMMING  and PROBLEM SOLVING IN ‘C’

Maximum Marks : 40

Note: Attempt all questions. Each question carries equal marks. Each question must be answered in
maximum 800 words.

1. What is the difference between “Top-Down” and “Bottom-up” Design? Discuss with the help of suitable
examples.

2. Write a C program to print the value of input number in word. Consider number range from 0 to 99.

3. How subprogram in C are written and called? Discuss. Describe call by value and call by reference calling
techniques with the help of suitable examples.

4. Write a C program using dynamic memory management functions : malloc( ), calloc( ) and free( ).

5. What do you understand by “Conditional Compilation Directives”? Describe any 3 conditional compilation
directives with the help of examples.

A-704
Paper : BCA-14

OPERATING SYSTEM and SYSTEM SOFTWARE
Maximum Marks : 40

Note: Attempt all questions. All questions carry equal marks. Each question must be answered in
maximum 800 words.

1. Consider the following data with burst time given in milliseconds :
(i) SJF

(ii) Priority scheduling

Process Burst time Priority

P1 5 5
P2 3 5
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P2 1 3

P4 4 2
P5 2 1

The process has arrived in the order P1, P2, P3, P4, P5 all at time 0.
(a) Draw Gantt charts for the execution of these processes using FCFS, SJF, a nonpreemptive priority

and RR (quantum = 1) scheduling.
(b) What is the turnaround time and waiting time of each process for each of the scheduling algorithm.

2. What 2 advantages do threads have over multiple processes? What major disadvantages do they have? Suggest
one application that would benefit from the use of threads.

3. What is segmentation? Explain. What is demand segmentation?

4. What is thrashing? What are the causes for thrashing?

5. Describe the SSTF disk scheduling algorithm using the following data. The dist head is initially at position-
cylinder 53 the cylinder sequence of requests is 98, 183, 37, 122, 14, 124, 65, 67. Find the total head
movement.
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